

On Some Expressions for π

¹V. Barrera-Figueroa, ²I. Guerrero-Moreno and ²J. López-Bonilla

¹Posgrado en Tecnología Avanzada, SEPI-UPITA, Instituto Politécnico Nacional,
 Av. IPN 2580, Col. Barrio la Laguna-Ticomán, CP 07340, CDMX, México

²ESIME-Zacatenco, Instituto Politécnico Nacional, Edif. 5, 1er. Piso,
 Col. Lindavista CP 07738, CDMX, México

Abstract: Some expressions of Chudnovsky and Gosper for π are written in terms of hypergeometric functions.

Key words: Hypergeometric functions • Mathematica

INTRODUCTION

In [1] we find the following expression of David and Gabriel Chudnovsky:

$$A_1 \equiv \sum_{m=0}^{\infty} \frac{2^{m+1}}{\binom{2m}{m}} = \pi + 4, \quad (1)$$

and in [2] are the Gosper's formulae:

$$\begin{aligned} A_2 &\equiv \sum_{m=1}^{\infty} \frac{1}{m \binom{2m}{m}} = \frac{\pi\sqrt{3}}{9}, & A_3 &\equiv \sum_{m=1}^{\infty} \frac{3^m}{\binom{2m}{m}} = \frac{4\pi\sqrt{3}}{3} + 3, \\ A_4 &\equiv \sum_{m=1}^{\infty} \frac{3^m}{m^2 \binom{2m}{m}} = \frac{2\pi^2}{9}, & A_4 &\equiv \sum_{m=1}^{\infty} \frac{m}{\binom{2m}{m}} = \frac{2}{27}(\pi\sqrt{3} + 9). \end{aligned} \quad (2)$$

Here we use the techniques of [3-5] to obtain the hypergeometric form of A_r , $r = 1, \dots, 5$.

Deduction of (1) and (2) via Hypergeometric Functions and Mathematica: The relation (1) can be written as:

$$A_1 = 2 \sum_{m=0}^{\infty} t_m, \quad t_m = \frac{2^m}{\binom{2m}{m}}, \quad t_0 = 1, \quad \frac{t_{m+1}}{t_m} = \frac{(m+1)(m+1)}{\left(m + \frac{1}{2}\right)(m+1)} \frac{1}{2}, \quad (3)$$

then from [3-5] we deduce that:

$$A_1 = {}_2F_1\left(1, 1; \frac{1}{2}; \frac{1}{2}\right). \quad (4)$$

On the other hand, in [6] we find the following formula in terms of the gamma function:

$${}_2F_1\left(a, b; \frac{a+b-1}{2}; \frac{1}{2}\right) = \frac{2^{b-1}\Gamma\left(\frac{a+b-1}{2}\right)}{\Gamma(b)} \left[\frac{\Gamma\left(\frac{b}{2}\right)}{\Gamma\left(\frac{a-1}{2}\right)} + \frac{2\Gamma\left(\frac{b+1}{2}\right)}{\Gamma\left(\frac{a}{2}\right)} + \frac{\Gamma\left(1+\frac{b}{2}\right)}{\Gamma\left(\frac{a+1}{2}\right)} \right], \quad (5)$$

which for $a = b = 1$ gives ${}_2F_1\left(1, 1; \frac{1}{2}; \frac{1}{2}\right) = \frac{\pi}{2} + 2$, hence (4) implies the value (1) obtained by Gabriel and David Chudnovsky [1].

Similarly, from (2):

$$\begin{aligned} A_2 &= \frac{1}{2} \sum_{m=0}^{\infty} t_m, \quad t_m = \frac{2(m+1)[m!]^2}{(2m+2)!}, \quad \frac{t_{m+1}}{t_m} = \frac{(m+1)(m+1)}{\left(m+\frac{3}{2}\right)(m+1)} \frac{1}{4} \quad \therefore \quad A_2 = \frac{1}{2} {}_2F_1\left(1, 1; \frac{3}{2}; \frac{1}{4}\right), \\ A_3 &= \frac{3}{2} \sum_{m=0}^{\infty} t_m, \quad t_m = \frac{2 \cdot 3^m [(m+1)!]^2}{(2m+2)!}, \quad \frac{t_{m+1}}{t_m} = \frac{(m+1)(m+2)}{\left(m+\frac{3}{2}\right)(m+1)} \frac{3}{4} \quad \therefore \quad A_3 = \frac{3}{2} {}_2F_1\left(1, 2; \frac{3}{2}; \frac{3}{4}\right), \\ A_4 &= \frac{3}{2} \sum_{m=0}^{\infty} t_m, \quad t_m = \frac{2 \cdot 3^m [m!]^2}{(2m+2)!}, \quad \frac{t_{m+1}}{t_m} = \frac{(m+1)(m+1)(m+1)}{(m+2)\left(m+\frac{3}{2}\right)(m+1)} \frac{3}{4} \quad \therefore \quad A_4 = \frac{3}{2} {}_3F_2\left(1, 1, 1; 2; \frac{3}{2}, \frac{3}{4}\right), \\ A_5 &= \frac{1}{2} \sum_{m=0}^{\infty} t_m, \quad t_m = \frac{2[(m+1)!]^2}{(2m+2)!}, \quad \frac{t_{m+1}}{t_m} = \frac{(m+2)(m+2)}{\left(m+\frac{3}{2}\right)(m+1)} \frac{1}{4} \quad \therefore \quad A_5 = \frac{1}{2} {}_2F_1\left(2, 2; \frac{3}{2}; \frac{1}{4}\right), \end{aligned} \quad (6)$$

and Mathematica gives the following values:

$$\begin{aligned} {}_2F_1\left(1, 1; \frac{3}{2}; \frac{1}{4}\right) &= \frac{2\pi\sqrt{3}}{9}, \quad {}_2F_1\left(1, 2; \frac{3}{2}; \frac{3}{4}\right) = \frac{8\pi\sqrt{3}}{9} + 2, \quad {}_3F_2\left(1, 1, 1; 2; \frac{3}{2}, \frac{3}{4}\right) = \frac{4\pi^2}{27}, \\ {}_2F_1\left(2, 2; \frac{3}{2}; \frac{1}{4}\right) &= 2.1394\,6638\,4104\,0966 \dots, \end{aligned} \quad (7)$$

hence the expressions (6) imply the formulae (2) of Gosper [2].

REFERENCES

1. Borwein, J. and K. Devlin, 2009. The computer as crucible. An introduction to experimental mathematics, A. K. Peters, Wellesley, Mass. USA (2009).
2. <http://www.pi314.net/eng/methana.php>
3. Petkovsek, M., H.S. Wilf and D. Zeilberger, 1996. *A = B, symbolic summation algorithms*, A.K. Peters, Wellesley, Mass. USA (1996).
4. Koepf, W., 1998. Hypergeometric summation. An algorithmic approach to summation and special function identities, Vieweg, Braunschweig/Wiesbaden (1998).
5. Koepf, W., 2007. Orthogonal polynomials and recurrence equations, operator equations and factorization, Electronic Transactions on Numerical Analysis 27: 113-123.
6. <http://functions.wolfram.com/HypergeometricFunctions/Hypergeometric2F1/03/04/01/>